SET A < P(
General English ~=<)

QI. A sentence that expresses a command or an entreaty is
called an:
A. Assertive sentence
B. Interrogative sentence
C. Imperative sentence
D. Exclamatory sentence

Q1 1. Choose the word which best expresses the meaning
of the given word: Enormous:

A. Soft

B. Average

C. Tiny

D. Weak

Q2. Every statement must have a subject and a
A. Phrase
B. Verb
C. Noun
D. Predicate

Q12.Select the plural form of “parenthesis™
A. Parenthesis
B. Parenthesises
C. Parenthesi
D. Parentheses

Q3. Identify the meaning of the idiom cost an arm and a leg.
A. Something is very difficult
B. Something is very easy
C. Something is very expensive
D. Something is very cheap

QI13.What would the indirect speech be: Maria said. ~It’s my
car.”™?

A. Maria said that it is my car.

B. Maria said that it is her car.

C. Maria said that it was my car.

D. Maria said that it was her car.

Q4. Which of the following is a compound sentence?
A. The fox slept
B. Because it was raining, we stayed inside.
C. The cat slept, and the dog played.
D. Sleeping is good.

Q14.Which one of the following words is a verb?
A. Quick
B. Quicken
C. Quickly
D. Quickness

Q5. Transform the following sentence into the passive voice.

Q15.Which one of the following words is a noun?

Who did this?” A. Pure
A. By whom were that done? B. Purify
B. By whom was this done? C. Purity
C. By Who was this done? D. Purely
D. By whom is this done?
Q6. A long poem narrating achievements of a hero or | Q16. Which of the following is a subordinating
legendary figures is known as ? conjunction?
A. Epic A. Or
B. Elegy B. Yet
C. Ode C. Because
D. Sestina D. Nor

Q7. Matter written by hand is?
A. Handwritten
B. Manuscript
C. Proof
D. Amnesty

Q17. Select the wrongly spelt word.
A. Lightning
B. Ligament
C. Lineage
D. Liquedate

Q8. Use a suffix to form an adjective from a given word:
efficiency

A. Efficiencive

B. Efficienly

C. Efficient

D. Efficienal

Q18.Choose the option that has all words spelt correctly:
A. Exercise, enterprise, supervise
B. Exercise, entirprise, supervise
C. Exercise, enterprise, supervice
D. Exercise. enterprise, superwise

Q9. Commencement of words with the same letter:
A. Pun
B. Alliteration

Q19.Which one of the following words is an adjective?
A. Benevolence
B. Benefactor

C. Transferred epithet C. Beneficial
D. Oxymoron D. Benefit
Q10. Select the plural form of “Cattle™ Q20. Which one of the following words is a verb?
A. Cattle A. Protect
B. Cattles B. Protection
C. Cattlen C. Protective
D. Cattlous D. Protectively




Basic Mathematics

Q21. Which of the following numbers is divisible by 4?
A. 78653234
B. 98765042
C. 24669602
D. 87941032

29.The angle of a minor segment is
A. Acute

B. Right
C. Obtuse
D. Straight

Q22.Find the number which when divided by 53 gives 8 as
quotient and 5 as remainder.

Q30.The base and hypotenuse of a right triangle are
respectively 6 cm and 10 em long. Its area is

A. 439 A. 60 cm’

B. 429 B. 120 cm’

C. 456 C. 30cem’

D. 486 D. 24 cm’
Q23.What least number should be added to 10056 to get a | Q31.The angle between the diagonals of a rhombus is
number exactly divisible by 23? A. 45 deg

A 5 B. 90 deg

B. 18 C. 30deg

C. 13 D. 60 deg

D. 10
Q24.A polygon is a simple closed figure formed by more | Q32.The HCF of two numbers is 23 and their LCM s
than ......oovvivieninin, line segments. 1449.1f one of the numbers is 161, find the other.

A. three A. 207

B. four B. 259

C. five C. 107

D. six D. 159

Q25. The diameter of the wheel of a car is 70 cm. How many
revolutions will it make to travel 1.65k m?

Q33. The number which is neither prime nor composite
is

A. 650 A. 0
B. 750 B. |
C. 700 C 2
D. 800 D. 3
Q26.Two angles whose sum is 90” are called Q34.The largest number of 6 digits which is exactly
A. Supplementary angles divisible by 16 is
B. Complementary angles A. 999980
C. Corresponding angles B. 999982
D. Alternate angles C. 999984
D. 999964

Q27.The side of an equilateral triangle is 4 cm. An equilateral
triangle, congruent to it , has the side length
A. lcm

B. 2c¢m
C. 3cm
D. 4cm

Q35.Arrange the fractions 2/3, 5/6, 7/9 and 11/18 in
ascending order.
A. 11/18<2/3<7/9<5/6

B. 7/9<5/6<2/3<11/18
C. 7/9<2/3<5/6<11/18
D. 11/18<7/9<5/6 <2/3

Q28. It is not possible to construct a triangle when its sides
are

A. 83 cm, 3.4 cm.6.]1 cm

B. 54cm,23cm, 3.1 cm

C. 6em,7cm, 10 em

D. 3cm,5¢cm, 5 cm

Q36.How many whole numbers are there between 1018
and 12037

A. 185
B. 186
C. 184
D. None of these




Basic Mathematics

Q37. Neelam has 25 pencils. She gave 4/5 of them to Meena.
How many pencils does Meena get? How many pencils are
left with Neelam?

Q44.A number is an irrational if and only if its decimal
representation is
A. Non- terminating

A. 4,21 B. Non - terminating and repeating
B. 10,15 C. Non — terminating and non - repeating
C. 20,5 D. Terminating
D. None of these
(Q38. A line segment has ............... end points. Q45.1f one angle of a triangle is equal to the sum of the
A. one other two. then the triangle is
B. two A. An isosceles triangle
C. infinite B. An obtuse angled triangle
D. none of these C. An equilateral triangle

D. A right triangle

~Q39.The maximum number of points of intersection of three
lines in a plane is

A0

B. 1

G 2

D. 3

Q46.1f the length of the largest side of a triangle is 12
¢m the other two sides can be

A. 48cm,82cm

B. 3.2cm,7.8cm

C. 6.4¢cm,2.8cm

D. 7.6cm, 3.4 cm

Q40. An angle measuring 180 degrees is called
A. A complete angle
B. A reflex angle
C. A straight angle
D. None of these

Q47. If length of the diagonal of a square is 8 cm. then
its area will be

A. 64 cm’

B. 32cm’

C. 16 cm’

D. 48 cm’

Q41.A circle has
A. No line of symmetry
B. One line of symmetry
C. Two lines of symmetry
D. An unlimited number of lines of symmetry

Q48.A quadrilateral whose all the four sides and all the
four angles are equal is called a

A. Rectangle
B. Rhombus
C. Square

D. Parallelogram

'Q42. The diameter of a wheel of a car is 70cm find the
distance covered by the car during the time in which the
wheel makes 1000 revolutions.

A. 2200 m

B. 24000 m

C. 22000 m

D. 2400 m

Q49. If only one pair of opposite sides of a quadrilateral
are parallel ., then the quadrilateral is a

A. parallelogram

B. trapezium

C. rhombus

D. rectangle

| Q43. The angle which exceeds its complementary angle by
30" is

Q50. The triangle formed by joining the mid points of |
the sides of a right angled triangles is

A. 50° A. Scalene

B. 120 B. lIsosceles

C. 60° C. Equilateral

D. 80° D. Right |

Basic Science

Q51.What is the common name for ethanoic acid?
A. Formic acid
B. Acetic acid
C. Citric acid
D. Lactic acid

Q52.Which of the following is an alkali?

A. Sodium hydroxide
B. Ammonium chloride
C. Sulfuric acid

D. Zinc oxide




Basic Science

Q53.What is formed when magnesium reacts with
hydrochloric acid?
A. Magnesium chloride and hydrogen gas
B. Magnesium oxide and water
C. Magnesium hydroxide and hydrogen
D. Magnesium sulfate and oxygen

Q63. When light passes from air into glass, it:
A. Speeds up
B. Slows down
C. Moves at the same speed
D. Gets absorbed

Q54.0hm’s law states that V = IR. What does R represent?

Q.64 The Fleming’s left-hand rule is used to determine:

A. Gregor Mendel
B. Charles Darwin
C. Alfred Wallace
D. Hugo de Vries

Q57.The theory of natural seleTti&Kv?p@oﬁ by: ___OGT.Encrgy possessed t bﬁrﬁing body is:

A. Voltage A. Direction of current in a conductor
B. Current B. Direction of force on a conductor
C. Resistance C. Direction of magnetic field
D. Power D. Direction of electron flow
Q55. Reflex actions are controlled by: Q65. Sound cannot travel through:
A. Brain A. Solid
B. Spinal cord B. Liquid
C. Heart C. Gas
D. Lungs D. Vacuum
Q56.The device used to measure electric current is: Q66. Which force pulls objects toward the Earth?
A. Voltmeter A. Friction
B. Ammeter B. Gravity
C. Galvanometer C. Magnetism
D. Resistor _D. Tension

—

A. Potential energy
B. Thermal energy

C. Chemical energy
D. Kinetic energy

Qs8.

Which of these organisms reproduces by
fragmentation?

Q68.Which crops are grown in kharif season?
A. Wheat and mustard

D. Window glass

A. Planaria B. Gram and peas
B. Hydra C. Paddy and maize
C. Paramecium D. Linseed and peas
. D. Amoeba

Q59. Which enzyme is present in saliva? Q69.Which metal is extracted by electrolytic reduction?
A. Pepsin A. Iron
B. Amylase B. Aluminium
C. Trypsin C. Zinc
D. Lipase D. Copper

Q60. A concave mirror is used in: Q70.Which type of bond is present in HCI? 1
A. Streetlights A. lonic
B. Shaving mirrors B. Covalent
C. Rear-view mirrors C. Metallic

D. Hydrogen

Q61. The power of a lens is measured in: Q71.Which of the following increases across a period?
A. Newton A. Atomic radius
B. Joule B. Metallic character
C. Diopter C. lonization energy
D. Candela D. Basicity

Q62. The focal length of a concave mirror is always: Q72. What is the mass of | mole of water (H20)?
A. Positive A lég
B. Negative B.17¢
C. Zero C.18¢g

| D.Infinity D.20 g




Basic Science

Q73.Which of the following is not an ionic compound?
A. NaCl
B. KBr
C. H.0
D. CaF:

Q77.Which process is used to separate components
of crude oil?
A. Distillation
B. Filtration
C. Chromatography
D. Evaporation

Q74.Which is a reducing sugar?

Q78. What is formed when an acid reacts with a

A. Sucrose base?
B. Glucose A. Salt and hydrogen
C. Starch B. Salt and carbon dioxide
D. Cellulose C. Salt and water
D. Only salt |
Q75.Which polymer is used in plastic bags? Q79.Which of the following metals do not corrode
A. Polyethylene easily?

B. PVC
C. Nylon
D. Teflon

A. Copper and iron

B. Gold and platinum
C. Zinc and iron

D. Aluminium and lead

Q76. Which of the following salts is used in making
soap?
A. Ammonium nitrate
B. Washing soda
C. Copper sulphate
D. Sodium chloride

Q80.Which metal is liquid at room temperature?
A. Lead
B. Mercury
C. Sodium
D. Iron

Reasoning

brother of 'A'. How is 'D' related to 'C'?
A. Granduncle
B. Father
C. Sibling
D. Grandfather

Q.81.'A" is the father of 'B'. 'C' is the son of 'B'. 'D' is the

Q84.In a row of children, Ravi is seventh from the left
and fourth from the right. How many children are there
in the row?

A.9

B. 10

C.11

D. 12

Q82. If RESULT" is coded as 'QDRTKS', then 'MARKER'

Q85. In a class, Rita is ranked 15th from the top and

is coded as: 20th from the bottom. How many students are there in
A. LZRQDS the class?
B. LBQJDQ A. 34
C. NBSMFS B. 35
D. LZQIDQ C.36
D. 100
Q83. 'Food' is related to 'Hunger' in the same way as 'Sleep' | Q86. If you are facing east and turn 225°

is related to: counterclockwise, which direction will you be facing?
A. Bed A. North-East
B. Dream B. North-West
C. Tiredness C. South-East
D. Night D. South-West




Reasoning

Q87. A girl walks 6 km north, then turns left and walks 4
km, then turns left again and walks 6 km. How far is she
from the starting point?

A.4 km

B. 6 km

C.8km

D. 10 km

QB89. If 2, 6, 12, 20, 30, _, 56, what is the missing
number?

A. 36

B. 42

C. 46

D. 50

times the age of B. What is B's present age?

Q88. A is twice the age of B. Three years ago, A was three

Q90. If LAKE is written as ODNH, how is RIVER
written?

A. 5 years A. ULYHU
B. 6 years B. ULYHU
C. 7 years C. UMYIU
| D.8years D. VLYHV

General Awareness /Knowledge

FQ‘)] PanditHariprasadChaurasia is associated with which
instrumental music

Q96.Which of the following was Satyajit Ray associated |
with?

B. Mumagaon
C. Mangalore

A. Sitar A. Classical music
B. Sarod B. Commercial art
C. Shehnai C. Film Direction
D. Flute D. Classical dance
Q92. Gateway of India is located at? Q97. The Warli Painting style belongs to
A. Mumbai A. Rajasthan

B. Andhra Pradesh
C. Odisha

D. Himachal Pradesh

D. Madgaon D. Maharashtra
Q93. Giddha is the folk dance of which state Q98. Who is the first Indian to go to Space
A. Haryana A. Rakesh Sharma
B. Rajasthan B. RakeshSinha
C. Punjab C. Bachendripal

D. Balkrishnan

Q94. Which of the following is NOT written by Munshi
Premchand?

A. Gaban

B. Godan

C. Guide

D. Manasorovar

Q99. Which country is called playground of Europe
. Switzerland

France
Germany
Holland

COowp!

Q95. The city of Agra is situated in the bank of which
river?

A. Satluj

B. Saraswati

C. Ganga

D. Yamuna

Q100. Capital city of Hungary
Dublin

Athens
Budapest
Nicosia

CSOow >
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Common Recruitment Exam for the Group-C Post ‘Lab Attendant’

Dr.B..R.Ambedkar Institute of Technology

SET - A
Q.No Subject Correct Option Q.No Subject Correct Option

1 C 51 B
2 D 52 A
3 B 53 A
4 C 54 C
5 B 55 B
6 A 56 B
7 B 57 B
8 C 58 A
9 B 59 B
10 General A 60 B
11 English B 61 C
12 D 62 B
13 D 63 B
14 B 64 B
}2 g 22 Basic Science ]1;
17 D 67 D
18 A 68 C
19 C 69 B
20 A 70 B
21 D 71 C
22 B 72 C
23 B 73 C
24 A 74 B
25 B 75 A
26 B 76 D
27 D 77 A
28 B 78 C
29 C 79 B
30 D 80 B
31 B 81 A
32 A 82 D
33 B 83 C
34 C 84 B
35 Basic A 85 Reasoning A
36 Mathematics C 86 D
37 C 87 A
38 B 88 B
39 D 89 B
40 C 90 A and B
41 D 91 D
42 A 92 B
43 C 93 General C
44 C 94 Awareness/Knowledge C
45 D 95 D
46 A 96 C
47 B 97 D
48 C 98 A
49 B 99 A
50 D 100 C




